ﬂé Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Answers

Which choice has a4 with the value of 400 or 4 hundreds?
A. 243 B. 4,567 C. 467 D. 4,315 1
Which choice has a5 with the value of 5,000 or 5 thousands? 2
A. 4,659 B. 5,916 C. 1,825 D. 76,593 5
Which choice has a 3 with the value of 30,000 or 3 ten thousands? 4
A. 58,193 B. 984,321 C. 329,487 D. 39,256

5.
Which choice has a5 with the value of 50 or 5 tens?
A. 754 B. 875 C.25 D. 563 6.
Which choice has a 1 with the value of 100 or 1 hundred? [
A. 4,137 B. 14,962 C. 418 D. 312

8.
Which choice has a 1 with the value of 1,000 or 1 thousand? 9
A.1378 B. 12,645 C.5,719 D. 162,598

10.
Which choice has a 4 with the value of 40,000 or 4 ten thousands?
A. 67,429 B. 14,589 C. 63,542 D. 348,125 11.
Which choice has a5 with the value of 50 or 5 tens? 2.
A. 5,216 B. 59 C. 594 D. 785
Which choice has a 9 with the value of 900 or 9 hundreds?
A. 6,978 B. 96,275 C. 95,746 D. 5,194
Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 13,654 B. 6,953 C. 7,684 D. 75,369
Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 65,419 B. 49,153 C. 89,234 D. 794,386
Which choice has a 8 with the value of 80 or 8 tens?
A.18 B. 238 C.18 D. 85
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Answer Key

Solve each problem. Answers
Which choice has a4 with the value of 400 or 4 hundreds?
A. 243 B. 4,567 C. 467 D. 4,315 . C
B
Which choice has a5 with the value of 5,000 or 5 thousands? 2 _ =
A. 4,659 B. 5,916 C. 1,825 D. 76,593 5 D
Which choice has a 3 with the value of 30,000 or 3 ten thousands? 4 A
A. 58,193 B. 984,321 C. 329,487 D. 39,256
5. A
Which choice has a5 with the value of 50 or 5 tens?
A. 754 B. 875 C.25 D. 563 5. A
Which choice has a 1 with the value of 100 or 1 hundred? ! L
A. 4,137 B. 14,962 C. 418 D. 312 B
8
Which choice has a 1 with the value of 1,000 or 1 thousand? 9 A
A. 1,378 B. 12,645 C.5,719 D. 162,598
0. B
Which choice has a 4 with the value of 40,000 or 4 ten thousands?
A. 67,429 B. 14,589 C. 63,542 D. 348,125 1. D
Which choice has a5 with the value of 50 or 5 tens? 12 L
A.5216 B. 59 C.594 D. 785
Which choice has a 9 with the value of 900 or 9 hundreds?
A. 6,978 B. 96,275 C. 95,746 D. 5,194
Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 13,654 B. 6,953 C. 7,684 D. 75,369
Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 65,419 B. 49,153 C. 89,234 D. 794,386
Which choice has a 8 with the value of 80 or 8 tens?
A.18 B. 238 C.18 D. 85
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